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Vertex Z vs Mass (mass in 0.0175 - 0.0225 GeV)
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Vertex Z vs Mass (mass in 0.0196052631579 - 0.0246052631579 GeV)
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Vertex Z vs Mass (mass in 0.0217105263158 - 0.0267105263158 GeV)
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Vertex Z vs Mass (mass in 0.0238157894737 - 0.0288157894737 GeV)
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Vertex Z vs Mass (mass in 0.0259210526316 - 0.0309210526316 GeV)

2000

1800

1600

1400

1200

1000

ILIIII

=
o
N w

=
o

=
o

[

800

600
. . -

- = 400

- 200

I . . . L . . . L . . . I . . . 1 . 0
0.02 0.04 0.06 0.08 0.1
mass [GeV]
Vertex Z (mass in 0.0259210526316 - 0.0309210526316 GeV)

X2 I'ndf 103.8/113
= Amplitude 4480 +18.2
— Mean 1.32 £0.02
B Sigma 5.07 £0.02
E Tail Z 8.501+ 0.388
= Tail length 3.023 +0.031
E

50 =30 20 -10 0 10 20 30 20 50

Vertex [mm]



Vertex [mm]

[
o
w

=
o
™

=
o

gw IIIIIIﬂ] IIIIIIII| IIIIIIﬂ] [ TTIT

[

Vertex Z vs Mass (mass in 0.0280263157895 - 0.0330263157895 GeV)
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Vertex Z vs Mass (mass in 0.0301315789474 - 0.0351315789474 GeV)
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Vertex Z vs Mass (mass in 0.0322368421053 - 0.0372368421053 GeV)
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Vertex Z vs Mass (mass in 0.0343421052632 - 0.0393421052632 GeV)
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Vertex Z vs Mass (mass in 0.0364473684211 - 0.0414473684211 GeV)
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Vertex Z vs Mass (mass in 0.0385526315789 - 0.0435526315789 GeV)
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Vertex Z vs Mass (mass in 0.0406578947368 - 0.0456578947368 GeV)
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Vertex Z vs Mass (mass in 0.0427631578947 - 0.0477631578947 GeV)
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Vertex Z vs Mass (mass in 0.0448684210526 - 0.0498684210526 GeV)
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Vertex Z vs Mass (mass in 0.0469736842105 - 0.0519736842105 GeV)
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Vertex Z vs Mass (mass in 0.0490789473684 - 0.0540789473684 GeV)
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Vertex Z vs Mass (mass in 0.0511842105263 - 0.0561842105263 GeV)
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Vertex Z vs Mass (mass in 0.0532894736842 - 0.0582894736842 GeV)
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Vertex Z vs Mass (mass in 0.0553947368421 - 0.0603947368421 GeV)
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Vertex Z vs Mass (mass in 0.0575 - 0.0625 GeV)
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